


1. [4+1 marks]
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5. [3+3 marks]
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7. [4+4 marks] Let A, B, C be 4x4 matrices such that det(4) = 2; det(B) = 3; det(C) = -1

Evaluate the following: :

a) det(2AT(3B)71(C?
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[5+3 marks] For the following system x+3y+tz=-2
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x—y+4z=10
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12. [3+2 marks] Given the plane —2x + 3y = —z — 17, the point A(4, —2,2), and the line
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a) Find the point of intersection botwesn tha lins and tha nlana -~ - s o— oo ——
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13. [4+4+4 marks] Given the point P(2, —6, 8)and the lines:
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15. [4 marks] Let, ¥, and W denote vectors in a vector space V. Show that
span{, ¥, W} € span{d — 4,4 + W, W)
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16. [3+3 marks] Let A
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